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1) Fill the question tag?

Stop that noise, -------- ?

A) wont you? B)isn’t you? C) will you? D) is you ?
2) Fill in the blank with correct word:

Our soldier ----- the enemies attempt

A) Foiled B) toiled C) Boiled D) filed
3) Fill in the blank with suitable article:

He gave ------- one rupee coin ---- hour ago

A) an,a B) an,an C)a,a D) a,an

4) Select the correct sentence:

A) Neither Ravi nor mani has finished the work yet

B) Neither Ravi nor mani have finished the work yet

C) Neither Ravi nor mani had finished the work yet

D) Neither Ravi nor mani finished the work yet.
5) Select the correct word:

He never respects elders he is very -------

A) Indict B) Imprudent C) Impudent
6) Which one of the following is incorrect?

A) Alga is plural. B) Bureaux is Pural.

C) Crisis is singular. D) Larva is singular.
7) Select the plural from of “index”

A)indexes B)indices C) Both ‘a’ and ‘b’ D) Only ‘b’
8) Your argument are weighty, still they do not convince me

A) simple B) compound C) Complex D) none
9) Pick out the odd man out

A) What ever you do, do well

B) He must have done his duty for he is a conscious man

C) No one knows who he is

D) It was unfortunate that you were alsent
10) Replace the British English word to correct American English

equivalent “solicitor”.

A) barrister B) attorney C) solicitor

11) Change the following noun into verb “Fright”.
A) Frightfully B) Frighting C) fright D) frighten

12) Find out the odd word.

A) Investment B) Construction C) Dismiss D) Arrival Q
13) Fill in the blanks with appropriate preposition V’

He responded ---- the ladies in a humorous spiir&ghe boy

D) reverent

D) none

immediately responded ---- a blow.He respo

toast in a neat little speech.

A) With,to, to B) to,for,for C) for ,with,to D) to, with,to
14) Identify the sentence pattern:

The Americans have sent a rocket to mars.

A) SVOA B) SVAO C) SvO D) SVCA
15) Match the synonyms:
a) rebuked 1) shocked
b) jolted 2) curled
c) crouched 3) scolded
d) confined 4) bound
) a-1b-2¢c-3d-4 B) a-3 b-2 ¢c-1 d-4

C)a-1b-3c-2d-4 D) a-3 b-1c-2d-4
16) Fill in the blank with correct word
He ------ no promise of future prospect.
A) holds out  B) held out C) held up
17) Rajesh daubed his face with water colours.
Choose the most appropriate Synonym of the underlined
word?
A) smeared B) wiped C)washed D) cloded
18) Select the correct tense form?
Shakespeare has written dramas appealing to all people of all
ages.
A) present continuous
C) past perfect
19) Find out the verb
A) friendly  B) befriend C) friend D) friendship
20) Change the verb into adverb: Normal
A) normalay B) normally C) normality D) none

D) held over

B) simple present
D) present perfect

i

21) Select the correct comparative form of the following Very few
cities in india are as rich as mumbai
A) Mumbai is richer than some other cities in India
B) Mumbai is richer than any other cities in India
C) Mumbai is richer than most other cities in India
D) Mumbai is one of the richest cities in India
22) Match the following:

a) give up 1) broke

b) gave away 2) submit

c) give in 3) have no hope
d) give forth 4) publish

A) a-3 b-1c-2 d-4 B) a-3 b-2 c-1 d-4
C) a-1b-2c-4d-3 D) a-1 b-4 c-2 d-3

23) Choose the correct prefix for the root word — cure

A) de--- B) mid---- C) mis---- D) sine----
24) “The cloud is my kin”

Mention the figure of Speech

A) Personification B) Metaphor

C) Onomatopoeia D) Simile
25) Choose the correct prefix for the word:

Natural

A) preter B) circum C) non D) none

26) Choose the correct tag ,that completes the sentence
She hardly speaks ....... ?
A) doesn’t she B) didn’t she C) does she D) did she
27) Choose the correct tense?
After | -

my work ,| went to bed .

iIShed B) have finished
nished D) finished
28 the antonyms:

ugged 1) pushed

v ) aloft 2) showy

c) Devour 3) low
d) unpretentious 4) nibble
)

a-1b-4c-3d-2 B) a-4 b-1c-2 d-3
C)a-1 b-3 c-4 d-2 D)a-4 b-2c-1d-3
29) Fill the blanks with suitable preposition?
The cat is sleeping ------ the table.
A) under B) in C) insideD) outside
30) Select the correct tense
A) growing old is inevitable
B) growing old were inevitable
C) growing old are inevitable
D) growing old will inevitable
31) Fill the appropriate question tag?
People shouldn’t be rude to one another,-------- ?
A) shall they B) will they C) should they D) will they
32) Choose the correct homophone.
He was an ------- scholar .The exam period is -----
The rooms — tension made her anxious.
A) imminent, eminent, imminent
B) eminent, imminent, immanent
C) eminent, eminent, imminent
D) immanent, eminent, imminent
33) Pick out the sentence that is of pattern SV
A) Prakash is a doctor B) The day was short
C) He gave him a present
D) Laughing and barking doesn’t pay
34) Replace the underlined word with its equivalent American
English word. Paraffin
A) gas B) kerosene C) gasoline D) none
35) The present seems all dreary, the future very grim, your
problems are perplexing and your chances rather slim as per
these lines the problems are
A) PerplexingB) perfect C) Passionate D) perpendicular
36) Don’t prove yourself as a quitter though you are feeling sad
and bitter ,but grit your teeth and bare it always keep your
spirit high .How you have to keep your spirits always.
A) low B) highC) either high or low D) Both high & low
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37) Macth the sentences with correct tense form
a) She could not marry the
person of her choice 1) simple past
b) It has been raining heavily 2) present perfect
c) Have you seen the recent film 3) past perfect
d) The train had left 4) present perfect
A) a-1b-2 c-4 d-3 B) a-1 b-3 c-2 d-4
C) a-1b-4c-2d-3 D) a-1 b-2c-3d-2
38) Fill the the blank with infinitives:

It is unjust ----- the lands of others
A) to seize B) to be seizeC) to be seizing D) to seizing
39) | detest --—---- in public places —>fill with gerund

A) smoking B) smoked C) be smoking D) to smoke.
40) In summer the days and nights are hot.

1 2 3 4

Spot the error

A)1 B) 2 C)3 D)4
41) Spot the error :

Please include this as a postscript in this letter.

1 2 3 4

A) 2 B) 4 C)3 D)1
42) Match the antonyms:

a) infalliable 1) indigence

b) affluence 2) fact

c) fable 3) dubious

d) celibate 4) profligate

A) a-3 b-1 c-2d-4 B) a-3 b-1c-2d-4
C) a-4 b-2 c-1d-3 d)a-1b-2c-3d-4
43) The new word formed by blending ‘binary’ and ‘digit’ is----
A) bingit B) binary - d C) binary-digital D) bit
44) The new word formed by blending .
smart phone and tablet
A) moblet  B) palmtop C) phablet D) smartlet
45) Fill in the blank with participle
---- his abilities he should have done better
A) Having considered B) considering
C) Considered D) none of these
46) Suitable word which adds the suffix ---- some

D) all the tl-é\v

A) whole B) meddle C) glad

47) Match the synonyms:
a) siesta 1) unpleasant \v
b) inquisitivenus 2) sleep for a hile
c) jarring 3) eagerly
d) intrepid 4) fearless.
A) a-2 b-1 c-3d-4 B) a-1 b-2 c-4 d-3
C)a-2b-3¢c-1d-4 D) a-3 b-4 c-2 d-1

48) ldentify the sentences patteen
Science has made man’s llife comfortable these days
A) SVCA B) SVOCA C) SVIODOA D) SVOA
49) Find the correct positive degree form for the sentences
Noami is not one of the clearest girls in the class.
A) Naomi is as clever as other girls of class
B) Some girls are cleverer than Naomi
C) Naomi is not so clever as some other girls of the class
D) none
50) The flowers select the correct voice
A) Throw away B) throws away
C) have been thrown away D) threw away
51) In Feb — 5 2003, India’s P.M.renamed which one of the
metrological satellite as “Kalpana”
A) Metsat  B) Edusat C) Edusat — 1
52) Find the rhyming scheme.
You can start the count down ,you can take a last look
You can pass me my helmet from its plastic hook
A) ab B) ba C) aa D) none
53) It's launch forth filament, filament, filament out of itself .Bring
out the words of alliteration
A) forth — filament B) launch — filament
C) filament — filament D) forth- of
54) “Appearances can be deceptive “. Name the figure of
speech.
A) oxymoron B) metaphor C) similie D) personification

D) none

55) “The strong red wine of his mirth”. Mention the figure of
speech.
A) simile B) metaphor C) oxymoron D) repetition
56) “I thought how paltry how vulgar”’. What a mean act”.| refer to
A) Longfellow B) Emerson c) Kipling D) Lawrence
57) Will no one tell me what she sings?
Perhaps the plaintive number flows.
The song was:
A) sad B) joyous C) neither D) either
58) “Where words come out from the depth of truth where
tireless striving stretches its arms towards perfection”. These
lines are from the poem.
A) Solitary uaper B) English words.
C) Manliness D) Where the mind is without fear.
59) Identify the character of the line----
There is no power in the togue of man to alter me
A) Portia B) Shylock C) Antonio D) Bassanio
60) In the senate house, the conspirators surround ceasar — was
the first to stab him.
A) Brutus B) cascaC) antony
61) The prince of morocco choose the
A) Silver casket B) Gold casket
C) lead casket D) Iron casket
62) “| will overcome somebody” was written by
A) Guy caravan B) Zubin Mehta
C) Charles Tindley D) Johannes Brahms
63) From where did the gaint see the most wonderful sight
A) in his terace B) in the hall
C) Friendis house D) outside the window
lines with the poem
me back till the
me weeps to belong A) don’t quit

D) cassius

B) Solitary reaper
3) More welcome notes

to weary band. C) snake
4) If you were not afraid ,
you would kill him D) piano

A) 1-d 2-a 3-b 4-c
C) 1-d 2-b 3-a 4-c
65) Identify the patteen
Success is failure turned inside out
A) personification B) apostrophe
C) oxymoron D) similie
66) A cheque of ----- was given to Hughie by Baron Hausbreg
A) A shilling B) Ten thousand pounds
C) Thousand pounds D) Ten shillings
67) Adagio for string — beautiful piece of -------
A) Aaron Copland B) Samuel Barbar
C) Johannes brahms D) Karl Paulnack
68) The story of my life — book of
A) Helen Keller B) Kalpana chawla
C) Nelson Mandela D) none
69) Under the wide and starry sky, dig the grave and let me lie —
words of
A) Archibald Lampman  B) Elizabeth bagette browing
C) Lawrence D) R.L.Stevenson
70) Salim ali along with whom wrote the book ‘hand book of the
birds of india and Pakistan”
A) Gurbaresh Dillon

B) 1-a 2-b 3-c 4-d
D) 1-b 2-c 3-d 4-a

B) Irvin strassman

C) Dillon Ripley D) All the above
71) Match the poet with nationality?

1) Lampman a) Nottingshrie

2) Lawrence b) Durham

3) Elizabeth Barrette c) American

4) Vincent Browning d) Canadian

A) 1-d 2-a 3-b 4-c B) 1-d 2-a 3-b 4-c

C) 1-c 2-b 3-a 4-d D) 1-c 2-a 3-b 4-d
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72) Match characters with the words:

1) Swami and sum a) Lalsingh

2) After the strom b) Nila

3) The neem tree c) Samuel

4) Farmer d) Kutty Mappilai

A) 1-c 2-b 3-a 4-d B) 1-a 2-b 3-c4-d
C) 1-c 2-a 3-b 4-d D) 1-d 2-a 3-b 4-c

73) Which one of these is not a work of Shakespeare
A) The Ballad of reading goal B) Coriolanus
C) Locrine D) Cymbeline

74) Which of these lines belongs to Victorian era
A) It is the star to every wandering back.

B) More welcome notes to weary bands
C) Stop! Be silent for today
D) Footprints on the sand of time.

75) ldentify the poem in which this line occurs
“Remember they have eyes like ours that wake sleep ,and
strength than can be won.

A) My native land — to india B) No men are foreign
C) The apology D) None
76) Who wrote Bharathasindurashmi?
A) Tagore B) Lakshmi mukunthan
C) Deepa Agawal D) V.K.Gokak

77) Match the poets with poem

a) Discovery 1) Judith Nicholls

b) Biking 2) Dipti Batia

c) Inclusion 3) Leslie Norris

d) A tiger in zoo 4) Gayatri Pahlajani

A) a-4 b-1 c-2 d-3 B) a-4 b-2 ¢c-1d-3

C)a-1b-4c-3d-2 D) a-2 b-3 c-4 d-1
78) In early times people believed that------

A) Most birds died in winter

B) Brids flew away to warmer places

C) Brids moved from place to place when season’s changed

D) Birds slept in the mud throughout the winter
79) Warli painting belongs to which state?

A) Madya Pradesh B) Maharashtra

C) Chattisgrah D) Jarkhand
80) Sangeet natak academy confers classical States to h%

many dance styles?

A) 8 B)9 C) 10 68’
81) Match folk art with state?

1) Jatra a) Maharash@

2) Pavri Nach b) Bihar

3) Padayani c) Gujrat

4) Garba d) Kerala

A) 1-a 2-b 3-c 4d B) 1-b 2-d 3-a 4-c

C) 1-d 2-c 3-b 4-a D) 1-b 2-a 3-d 4-c

82) Whose work is “Annuciation”
A) Virgil B) Botticelli
83) “Garadi” is folk art of—

A) Mizoram  B) Puducherry C) Andra Pradesh D)Tamil nadu
84) Therukoothu is usually performed between the months of ---
A) April and September B) October and December

C) March and July D) none of these
85) Craving for the beautiful and fond past!
Is the theme of the works----------
A) Bat B) The mark of Vishnu C) Snake D) The piano
86) Match the poets with the works?
1) Annie louise walker  a) Far from the madding word
2) Thomas Hardy b) A Canadian heroine
3) Rabindranath Tagore c) Dyava Prithvi
4) V.K.Gokak d) Ghare — baire
A) 1-b 2-a 3-d 4-c B) 1-a 2-b 3-c 4-d
C) 1-b 2-d 3-a 4-c D) 1-d 2-a 3-b 4-c
87) “My land and My People” is the autobiography of
A) Adolf hitter B) Bill Clinton C) Mandela D) Dalai lama
88) Match the words with authors

C) Bellini D) Angerctein

1) My story - a) My autobiography
2) Majya Jalmachi
chittrakatha - b) Shanthabai Kamble

3) Agatha Christie — c) kamala das
A)1-c 2-b 3-a B)1-a 2-c 3-b C)1-a 2-b 3-c D) 1-b 2-a 3-c

Nl

89) Nelson Mandela was elected as president in 1994 from
which party?
A) African Republic party
B) African labour party
C) African national socialist party
D) African national congress
90) Abdul kalam’s “Vision for the nation” was written before
which incident?
A) Nuclear test 1974
B) Integrated guided missile development programme
C) Nomination of kalam as president of India
D) Nuclear test, 1998
91) Match the story with author

1) Lottery ticket a) O’ henry

2) The last leaf b) Anton Chekhov

3) Open window c) Tagore

4) Holiday d) Hector hugh munro,saki

A) 1-b 2-a 3-d 4-c B) 1-a2-b 3-d 4-c
C) 1-b 2-a 3-c 4d D) 1-a 2-b 3-c 4d
92) Idetify the nationality of the story? “ The last leaf”
A) American B) Indian C) England D) Zimbabwe
93) The monolith yaanaimalai looks like an elephant only when it
is viewed from
A) South — east direction
C) North — east direction
94) ldentify the author of the work
“You can’t be that, no you can’t be that”
A) Brian Patten B) Hope spencer
C) Atushi Despande D) Ruskin bond
1

B) South — west direction
D) North — west direction

95) Macth the following

) Lali Academy a) Ravishankar
2) b) New Delhi
3 c) Birju Maharaj

te d) T.R.Mahaligam
(31@ 2-a 3-c4-d B) 1-b 2-d 3-a 4-c
? ) 1-a 2-d 3-c 4-d D) 1-b 2-c 3-a 4-d
6) “There is more than one way to do a thing” is a line from the
work?
A) The ant later and dassie B) The sun beam
C) Swamiand Sum D) Farmer
97) “If you have tears prepare to shed them now” Identify the
character of the line
A) Brutus  B) Antony C) PortiaD) Shylock
98) The sun beam is adapted from------
A) Tales of Tendai Grandmother
B) Curiouser and Curiouser
C) Malgudi days
D) None
99) Identify the character of the line---
The evils men do lives after them.
A)Brutus B) Antonio C) Antony D) Shylock
100) Identify the work of Guy de Maupassant
A) Two friends B) The necklace C) Both D) None
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101) 13 year old Malavath Purna youngest woman to scale | 111) Which of the following is correctly matched?

Everest belongs to / 13 euwg meomeus LF6uom aiQyerol A) Thomas Munro - Permanent Settlement
fapd  gHw 2t s @emd  euwug QU HS B) Warren Hastings - Ryotwari System
TGS CahSHaj? C) Wellesley - Subsidie_lry System
A) Andhra Pradesh B) Tamil Nadu D) Cornwallis - Regulating Act
C) Karnataka D) Bihar LNetTau(HeueTOIDHMIET 618 FHWTSHI QUTHHSHIHMSI?
102) India’s first transgender college principal Manobi Bando A)  gmoev TGO - ATHESY HeoafSHLL b
Padyopadhyay of Krishnagar Women’s college in B) eumett CamavigRidav - @uuisgieurfl (peny
s Smphiens SO (pHevauf Werm UbHCHTUTSWIML C) QeusbQevaved - glememiliLenL g S L LD
ahg rhlevdSHesr Hifleioha] QUETISET &LV (LD H6veuT. D) smpsieunedev - @URIGULI®DE FLL LD
A) Bihar B) West Bengal C) Gujarat D) UP 112) LIST -1 LIST-1I
103) The Government of India set up the Central Bureau of A) Insecticide 1) Bordeaux Mixture
Investigation (CBI) in B) Rodenticide 2) Aureomycin
hdu  onEmhsD 6hS PG WSS Leveumiey C) Fungicide 3) Endosulphan
SIHDEDW SIENLD & S| 7 D) Bactericide 4) Thalium Sulphate
A) 1973 B) 1983 C) 1963 D) 1993 5) Atrazine
104) Which of the following constitutional amendments makes L'?'T_" . LIST ‘4" .
that total number of ministers including P.M. in the Council of A)  UEaSQAsTDD 1) GumiLéervseoemen
Ministers shall not exceed 15% of total number of members of B) ae05Qsimede0) 2) gpfIGwmenLo St
the House of People? C) uEGmasasTELE0 3) eT6mCLTE6LLIMEIT
A) 90" B) 91 C) 92™ D) 93" D) umslALTEASTEE0 4) Caedb FOCUL
abg  onflue  FiFpss FoLbD,  wwEsreneuuiesn 5) SlLpengs
ceeilgens, Ulggwon  erul  wésaeeanlsy  15% a) A-1, B-2, C-5, D-4 b) A-2, B-3, C-4, D-5
Bw&aaLng sen GHLNGSeng? c) A-3, B4, C-1, D-2 d) A-4, B-1, C-2,D-3
A) 90 eugl B) 91 eug C) 926ug) D) 936ug) 113) X, US,P,NK,?
105) What is the maximum number of candidates in a Al B) M C)L D)Q
constituency, for which elections can be conducted via the | 114) 162, 54, 18, 6, ?
Electronic Voting Machines (EVM) in India? A)1 2 C)3 D)4
A) 32 B) 16 C)72 D) 64 115) Beloy the three different positions of a die are given
106) Deficiency of vitamin D causes when ﬁ"on the top of this die then which number will be in
A) Nyctalopia B) Xerophthalmia the ? @@ usmLuller cpsTm QeusuGeum) Hemevse
C) Ostemalacia D) Pellagra TuUL @eenenr. @Uusenufed epsiim GoGeo @bhE 60

emeul L AT ‘D’ @emmeNenmed 2 6o m@Ld Grmil etsto G QBEGLD
A) R&CLrGeomiwm B) &pmigmebLiiw Q 5

C) s et GuimnGeodlwim D)Qusbeomsym V’

107)  Thiruvekha is / Qe .&T 66TLS) @ T 4
A) Tindivanam B) Thiruverkadu N\ h |
C) Kanchipuram D) Srivilliputhur Q A)1B) 2 C)4
108) \V’ 116)  How many triangles are visible in the following diagram?

a) Silver falls 1.Tirunelveli Q ED&&HEIL ULGH TESME (LPSECHTERISET Q5T &sTmen?
b) Thirparappu falls 2. Theni @ ; —~—
¢) Surulifalls 3. Dindigul v

d) Agasthiyar falls 4. Kanniyakumari

sOpETh Fiallpdsd QEomUNLLD/ I L higeT
a) Qeusten Biefpsa 1.H®ABCeUad
b) &bupiy Biefpsa 2. Ggenh
c) &men Biafpss 3. H6(HES60
d) sweviuy Fialpss 4. setreflm@Loifl
a b c d

A) 1 3 2 4

B) 2 1 3 4

C) 3 4 2 1

D) 4 3 1 2

109) Which gland is called master gland because of the
multiplicity of its function controlling many of the other|q4g)  Histogram is useful to determine graphically the value of

endocrine glands? o A) mean B) median C) mode D) all
A) Thyroid B)Pineal gland C) Pituitary D) Thymus Lreus QFeleusLLD el6iin eueILL SH6 epeoid @6
ueLGaum Brarfleveond &JUNGmeNS S HULGSSID 66vuT6wuLD wHIeoL SeTSHHL_eonDd
LI6D 66D U6 QeweouTH&Hemend Q& IT6BuTL. (15 LILIS 65T A) snefl  B) @evLlewed  C) (p&{H D) SiswenS S
SlqOUmLUTED Hmevening T ¢Tem S &SULGEMS) 119)  Who won Stockholm water Prize - 2015? eoLé Gammid
A)  engymuQ® B) Meflied &yu sementy eNpa - 2015 WNHEHEG QUHSILL LS.
C) Ml L D) engLoev A) Rajendra Singh B) Mike Pandey
110)  The style in which Tamil and Sanskrit mixed is called are C) Medha Patkar . D) Sunderial Bahuguna
A) Malayalam B) Creyole 120) STECHMUSGE SELUL W@GhSemsn &eauElg.&gea
C) Manippravalam D) Thulu A) spsbuil &60ALLIg B) ureb erjedlE
SOPL UL QLMAWD HebE WSUOLDM HenLuler Quuiy C) pruj Gané D) gomufiero umeroLiy
cT6bTeuT? Tuberculosis immunization was developed by
A) Albert Calmette B) Paul Ehrlich

A)  Weeowmard B) @Iﬂ@u_ll‘[d) C) LDGO'OﬂﬁIIj]UGuﬂme D) Q0 ) Rnhert Knrh M | nriic Pagerir
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121) So far how many times Australia won the ICC World Cup
Cricket
A) 2 B)3 C)4 D)5
122) In January who was appointed as the Chief Justice of
Bangladesh.
URISMTCHad6 2. 58 B Wem Hemevenn HHUSHWITES Feteur
WIS wimy Hublésaul L g
A) Surendra Kumar Sinha B) A.S. Kiran Kumar
C) Muzammel Hossain D) Kairul Haque
123) Miss Universe 2015 Paulina Vega belongs to.
2015 MgueEhs SIpd  ueyedlem  CeusT  6HH BT eOL&
Geipgal.
A) USA B) Columbia C) Venezuela D) Canada
124) With whom Leander paes of India paired to with mixed
doubles in Australian open 2015.
2015. — e fCredlwr epuett QLsttslley sevlifesr @l emL iy
ULLGe0g eOwmetLf  Quuwiery  win@pLesr  Gemg  GEfhg
Qeuestmmiy?
A)Cara black/ smgm Mennd
B)Martina Hingis/ wmjg.eorm anmiervy
C)Sania Mirza / gnesflum Oijegm
D)Serena Williams / Qafleorm elebedluiLberv
Which is in Correct? g1 seumi?
) Chandrayaan-1 - Oct.22 2008 - PSLV- C11
) Mangalyaan(MoM) - Nov.5 2013 - PSLV-C25
) GSAT-14 - Jan.5 2014 - GSLV-D5
D) IRNSS-IC - Mar.28 2015 - PSLV-C27
126) A and B Can do a piece of work in 30 days, while B and
C Can do the same. Work in 24 days. C and A in 20 days. In
what time can A alone do it? A wpmib B @ Ceusmeveniu

125)

A
B
Cc

30 mrisefigud, B wmmid C oiICs Ceoimevsmuws 24
Brigefled @iy, Cwomid 20 BILseT wpiglud. sefled
ALLGL @K Ceumevsnil 6155mer HTL&S6eMed (LPlgLiLf?

A)30days B) 48 days C)36 days D)45 days
127) A wheel makes 1000 revolutions in covering a distanc@
88m the radius of the wheel is

@m; &&syb 1000 Wwep &MWL

SLHSTEL, HFFSHTHH6NT LD 66016012

A) 7cm B) 14cm C) 7mm
128) S cT6n&HeMed QAUTIHHSTSH NS S @mm.

Find the odd man out.

A) 5688 B) 8396 C) 7263 D) 5157
129) @0 auflmsuNed A el QLLOLSSESHONGBHE 7 6usg

QAEMM&HAD, B etettuel] aueolimSHeO(hHEH 96g yeMTEHea|D
AHSEADMIST  QEHeu@GL  SRSHT  @LRSmeT  LLIHMS
Qametlsiimenj MHGCUTH A euelIMSHO(HHEH 116G I 6TeH
2 6. euflem&uNed QMGHLL 6T&HHement GUIf?

In a row, "A" is 7th from the left and "B" is 9th from the right.

Both of them interchange their positions and thus "A"
becomes 11th from the left. How many people are there in

®4mm

that row?
A) 18 B) 19 C) 20 D) 21
130) If A'is 25% of B and B is 40% of C then what percentage

of Ais C?

A etsttugl  Bufled 25 sHefHD, B eTetug  Culled

40850HLD afld AuleL aHGHmeTT FHRBLL C?

A) 250% B) 500% C) 600% D) 1000%
131) A man walks 1km towards east and then he turns South

and walks 5km Again he turns East and walks 2km after this

he turns north and walks 9km Now, how far is he from his

starting Point?

@@ welgsdr HpsE Coresd 18.8 pL&HDTET nE O5HEG

Cprésl AN 5818 pLEADTT mE &HPsE CrrsdH

S 2818 pLsHDTT NG aLse Crrsd 9 &8

BLEADTT SHCUTE Hearbiiw  QLSHOBHE  sTeleueTe)

EMSED QwSAMMY.

A) 3km B) 4km C)5km D) 7km
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132) A Sum of money lent out at simple interest basis amounts
to Rs.66000 in 3 years and Rs.72000 in 5 years. The sum lent
is
@@ CQFmmaml Feflallguiled allinés@ Nl L Hed (Lp6iTm)
TG SHeMNd ¢5.66000 geabd BHE yemGaefsd ¢r.72000
QL&D QETTTEL QUL I5@ L QHTns eTelaeaTe?
A) 60000 B) 50000 C) 57000 D) 59000
133) Two number are in the ratio 3 : 4 and the product of their
LCM and HCF is 10,800. The sum of the numbers is
Qe etstoset 3:4 eT6itm NHFHHD 2 6ener. MU 66T
B.8w womib BQAue @eneuseflst Qupssmhueost 10800.
6Teoled SleuN(h 6T6vnSH6eM6T Sa(h&H6L 6T6dT6sI?

A) 180 B) 210 C) 225 D) 240
134) ! + ! + ! + ;—
V241 342 VA3 T Jou B
A)2 B)4 C)6 D)7
135) What is the largest number by which when 2109, 2790

and 3471 are divided then 1, 2, and 3 are obtained as
remainders respectively
ahg sLQUIl  eemssomed 2109, 2790. woHmib 3471 &
QUGHHTL BFseT (pemmGuw 1,2 wHMI 3 euBLD?
A) 38 B)48 C)58 D) 68

136) On selling 12 note books, a seller makes a profit equal to
the selling price of 4 note books, what is his gain percent?
@@®; elwrumfl 12 Crrli@Gsamer emmHed 4 CoTL G sefssr
elipuener  eenevemIL eomuwrs  QuOMTy  eefled sgalsLd

sTeM6UEIT
A) 2 * B) 30% C) 40%

D) 50%
137) mellest HHCUTH g el CHMINUNeT HHCUTMSLL
1 UfESESHMG FWWD. 5  UGBLRSE@SGL L6

mFUeT eaug HUGuTmgWw Coamiluiler aulmsl GuTed
CLPEITM| DL MISTE QHEGLD. 6Talled FMHCUTH Fheng, Ln&Hefsdr
QUWIH6TT Sa(HGHEL 6T60T6017?
The present age of father is equal to square of her daughter

Gobi's age. After 5 years fathers age will be thrice his
daughters age at that time. What is the sum of their present

ages?
A) 36 B)41 C)25 D) 30
138) The price of the oil is decreased by 20% If the

expenditure on oil is not decreasing the ratio of the original
consumption to the new consumption is
aanQemuer eflemey 20% GMMESLILEGEHME]. CTEEICI6TTLLISSmeur
Qeevemals GOMES aNlLemelileflled LmMPW  HISHTEI&HGLD,
UHIW m&TeHGLD 2 6men NGO eT6dT601?
A) 3:4 B) 4:5 C)2:3 D) 1:2
139) @0 GOLUSHD gpulL Qurss QFefmrd ¢p.10,800
LOMID 2 eYssTs QFalllu’ L Qsrems 54500 eefed,
alL eladsluLgfe Qg @MU
LHILITETS)
The total expenditure of a family is Rs.10,800 and they arg
spending Rs.4500, for food, Then to draw a pie diagram the
degree value for food is
A) 100 B) 120 C) 130 D) 150
140) @ ST IeliumLs buard 32000-850-44750 sreor
flirsmriléasiu Qetergl. e LaSsTagHle oTdHSHememuTaIg)
QT gfls ule emblund Quuieuri?/ If an office clerk is
fixed in the pay scale 3200 — 85 — 4900, when will he reach his

CUEMTLIMEN &UT 65T

maximum?
A)15B) 17 C) 19 D) 20
141) Which one of the following is incorrect about 16" Lok

Sabha (2014) Election. &pésan_supmiet 615 16 eug (2014)

&&aTmels CHIHHL GMESH SeUmmeg|?

1) BJP = 282 seats

I1) INC = 54 seats

IIl) AIADMK = 37 seats

A) 1 Only B) Il Only C)lll Only D)AII are correct only
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142) 2 &L aby BTG  W(PMLWTS  LNemmevigd  LIedLIG
CHTL(H&&meT Ln&&SSH ol (HeTeng|.
Which is the first country completely switchcd to polymer bank

notes.
A) USA B) Norway
C) Sweden D) Australia
143) anhg BILE Hf&Qs. el sai@lomLw  WwsErsE

QAW 6T1651M QLGN 606USSH 2 6Tenj?

Which Cricketer of India named her daughter as “India”?

A) Viv Richads / eMeu f&&iery

B) Jhonty Rhodes/gnetung Cemerv

C) Jaysuria/ Qguig,flwim

D) Gavaskar/ seumervsiy

144) Which is the first state in India to fix minimum educational
qualification for Panchayat elections.
@iHwirenss 6bhg Heod, LEFTLSHH CHTHOL GUTLiquil
GODHS ULE Sl HGSHenwl B QFIgIeTens).

A) Gujarat B) Maharashtra
C) Kerala D) Rajasthan
145) @M haIsH WwEHMASTms 5,13,200.98 uGBLSHNEG

12% et601m NEAHSHD 2 WTHBHTEDL, NN  CUBL RIS ERHE
DG SIHBHESTSHS 6 LD&SETASHTNS 6T6iT6vIaUTSH @)(h&HELD?
The population of a city is 5,13,200. If it increases at the rate
of 12% per annum, what will be its population after 3 years?
A)7,12,009 B) 7,10,029 C)7,21,009 D) 7,92,100
146) Find the perimeter of the square that circumscribes a circle
of radius 18 / 18 sgynpeten @@ QILL MG 2 aen_sH
5|15 H6d1 HHDETENEUS: SHT6T5IS.
a) 136 b) 140

c) 144 d) 156

1 2
147) ‘A’ does Z th of the work in 5 days and B does g th of the

work in ‘8 days. Then A and B together finish half of the work in
how many days?

‘AN — ugd Gaumeenw 5 mBrrsefleo (gl

! @

Geuemevenwl 8 BAL-G6fMled (LpiqLini eleviled @@m@m@

LGS Ceouemevemill 615 Fement HIL_Safled (LpiqLiLin?
a) SZ LGN b)?E BIL_&aT C)3 E BIL&a1 d)7 B sen

148) 4 f gerpd 1.2 Qe Qrh o siter o Hemers S 72
Qa.f gererer sbfwrs wIMDiLGSDG. USw  sbGuiler
Syib eeuieer?/ A rod 4 m in length and 1.2 ¢m in radius is drawn
into another rod of length 72 cm. Find the radius of the new rod

A)3 B)2+/2 )32 D) 4
149) Arrange the following Prime Ministers of India in

chronological order of their reign

Spsecu g whHHREmeT aufseiler 9H&LG  STeL(LPEMMLILIG

the

aflensliu®S8s

NI.K.Gujral I1) H.D.Deve Gowda

1)V.P.Singh IV)Chandra Shekar

ALILILIV B)ILIV,ILE LIV, LI D)IV,IILLI
150) Qummsgs/ match the following

A) Greenpeace 1.Geneva

B) WWF 2.Amsterdam

C) IPCC 3.Gland

D) Amnesty International 4.London

A) A-2 B-3 CA1 D-4

B) A-4 B-3 C-1 D-2

C)A-2 B-1 C-3 D-4

D) A-4 B-1 C-3 D-2
151) The Preamble of the Indian Constitution adopted on 26"

November ,1949 did not include the terms

1. Socialist 2. Secular 3. Integrity 4. Republic
BeubL 26, 19491b G4 (WsLILMIUNED @60L60TS CUTTEHMSS6T
1. CemEWIeOI&Ld 2. DGEFTIINCHTENID 3. ROMIOID 4. GIQUITE
A)1,2,and 3B)2,3,and4 C)1,2,and 4 C)3 and 4
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152) 2_SHNCwenHi Heo6leu (DeeHamen 2 (b euns e

a) (PS6VNiD NN 6w b) (pgeond nnEBHS e

C) (PSEUNID (§GeVNS Gimkigen d) wgeonid LN S8 6

The Uttaramerur inscriptions were issued by

a)Raja Raja | b) Rajendra |
c) Kulothunga | d) Parantaka |
153) Quality Unit
a) Velocity (HlengGeusid) NI MLT
b) Force (@Neng) 2)[L
¢) Work Ceuemev) 3) ML=T 2]
d) Momentum (e_psi) 4)MLT '

A)a-2 b-1c-3d-4 B) a-3 b-4 c-1d-2
C)a-2b-1c-4d-3 D) a-4 b-3 c-2 d-1
154) Which one of the following is correctly matched?
A) Baking soda - Sodium bicarbonate
B) Caustic soda - Calcium carbonate
C) Sodalime - Sodium carbonate

D) Washing soda - Calcium hydroxide
Sp&Eu_eunmieT FHLTES QUTGHSSILL HETeNs 6182

A) FOLOWIEOCEFTLIT - Gamgwid emu STIUGsTL
B) &mervlg &(etifl) Gamm - STeLAWILD STLGCETL

C) GamLmenevLd - Gemgwid SmUGsTL

D) 6vemeu GamLm - STOLEAWILD DL JTHNE ([

155) List -1 List — 2
a) Artery 1) Pure blood
b) Vein 2) Oxygennated blood
c) Pulmonary Artery 3) Deoxygenated blood
d) Pulmonary Vein 4) Impure blood
UL 1q U601 UL Iq UI60-2
a) sLoeefll 1) &5HSNSSIULL QT SLD

2) gswreunu| Qefleyl LU L @rssin
3) grewteumy @e0evrs QU SLd
4) 21558 QUHSHL

B) a-3 b-4 c-1 d-2

D) a-1b-2 c-3 d-4

-4 b-1 c-2 d-3
Match the following:
NATIONAL PARKS (Gg,ﬂu.lugm&n&&m)

A) grrgred 1) SODHIG
B) @bdgm smba 2) 2 &BTSMETIL
C) unHiyy 3) SIBHIL&ST

D) Lm&&smb
A) A-1B-2 C-3 D-4
c)A-1B-2C-4D-3

4) QAP & FTeglSy
B)A-2B-1C-4D-3
D) A-2B-1C-3D-4

157) Match
A) Gau L& Vettangudi 1)Tiruvarur
B) 2 sw wrjsgrem yyiUdayamarthanda puram 2)Sivagangai
C) sepfigmen@snnKanjirankulam 3)Kanjipuram
D) sfi@erem  Karikilli 4)Ramanathapuram

A) A-2 B-3 C-4 D-1 B)A-2B-1C-4D-3
C)A-1B-2C-4D-3 D) A-1B-3 C-4D-2

158) ‘Yeustir etetTm LS Qememnlgend SiglillenluNed o (Heumdsliul L
LeNuNel eUmILL G60G 2 ([HUTSHHWIS
"Bhuvan" the new web based mapping of earth was developed by
A) NASA B)ISRO  C) Google D) Yahoo

159) Qestiement e (Poe auGluenill s oy eneoen
aiQunp g Qeusfluli-L_g? When did the Madras government
issue the first communal G.0O?

A) 1920 B) 1921

160) Match the following :/ Qurmgsis
A. Pampas/ wsured 1. Argentina/ ojirGlegeusiig sorm
B. Campos/ Gsibuerd 2. Australia/ syedGredwn
C. Prairies / uienrfierd 3. South Africa/ Qgeir oy LiLM&sn
D. Veldt / QeuedL- 4. North Africa / eu. GwR&&T
E. Downs/ Leyetterd 5. Brazil/ nGr&ed
A) A-1,B-2,C-3,D-4,E-5 B) A-1,B-5,C-4,D-3,E-2
C) A-5,B-4,C-3,D-2,E-1 D) A-2,B-3,C-5,D-4,E-1

C) 1922 D) 1927
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161) Match the following / Qur@ggis:

Drugs / Chemicals Their Uses

A) Atropine 1. Local Anaesthesia movement, Civil disobedience movement
C) ElFtherl . g ll;?atrt Tro]th),Ie " B) Civil disobedience movement, Khilafat movement, Quit
) Nitroglycerine - Jniation of Fupt India movement, Non-cooperation movement
) Pyrethrin 4. Mosquito Control . . .
C) Khilafat movement, Non-cooperation movement, Civil
LIST -1 LIST =1 disobedience movement, Quit India movement
A) @Il CrTenLIsH 1. o ajeusHO D) Non-cooperation movement, Quit India movement, Khilafat
o . ) movement, Civil disobedience movement
B) P55 2. @G3WH AzMOME 168)  Match the following: /QLing 585
c) empLCymHeNefletr 3. setoemn eNfleusnL ged A) South China Sea 1) Cyclone
L L B) Arafura Sea 2) Tornado
D) emUQySfledr 4. Qe sGUUTE C) Gulf of Mexico 3) Typhoon
a)A-3,B-1,C-4,D-2  b)A-1,B-2, C-3, D4 D) Bay of Bengal 4) Willy-Willy
c) A-3, B-1, C-2, D-4 d) A-4, B-3, C-2, D1 A) Qget1 EersSL_60 1) 1qwed
162) Match the following / Qun@sgis B) Sy,uniynn sL_6v 2) Q_nienGLn
LIST -1 LIST-1I C) Qu&edGan euemen@Ln 3) enL_Lp6em
A) Bajra 1. Rust D) eurasnen elifl@Ln 4) eflevedl-alsvedl
B) Wheat 2.YV|It Codes:
5) Sanana i Ero a)A-1,B4,C-3,D-2  b)A4, B-1,C2 D-3
UL gD - 1 UL gD - 2 c) A-3, B-4, C-2, D-1 d) A-3, B-2, C-4, D1
) sy 1. sIGlLGmS 169) ulguwed | g uligwe Il oLer Qummss  SC
B) Gangiemio 2. eumed Grm Qarhesiul(eter MuikGsamens Qeran@ sflwmear aNenLmws
) MevéaLme0 3. gé&m CoiHOs0:
D) aumemip 4. asm UL lquwied | UL tquieo 11
Codes: . e ey
a)A-2, B-3, C-1,D-4 b) A-1, B-2, C-3, D-4 a) sibaur ses] R
c) A4, B-1, C-3, D-2 d) A-3, B-4, C-2, D-1 b) uGenmfl sev& 2) &CrLie
163) Assertion (A): In a pressure cooker, food is cooked above C) Q&M He0LE( 3) U&&eT
boiling point N _ d) el iy &eo&i 4) 1Beir
E(e:?::ges(R): Boiling point of water decreases as the pressure Match List | with List Il correctly and select your answer using
' L . ) the cod*;iven below:
2mi# (A: Tgeg) G&sMed 2 ama CQsrHhlmesE  Ged List 11
FMLO&GSILGEMS). 1) Silk
SMPEId  (R):  SI(PSSD  SFswTeugmed  Bilssi  QsTHHeneo 2) Grapes
GODEDI! i 3) Flower
164)A)  SHAIRPERSON DYV.R NAME v(lj) Viticulture 4) Fish
aw commission V. Reday < .
B) 13" Finance Commission 2) AK. Mathur < f@”ﬁ?&;’"é/ °°3deds'4 B) 2.3 b.2. 0. dd
C) 14" Finance Commission 3) AP.Shah \§~ ) a-1,b-2, ¢-3, d- ) a3, b-2, c-1, d-
D) 7" Pay Commission 4) Vijay L Kelkar C)a-4,b-1,¢-3,d-2 D) a-4, b-3, c-1, d-2
SEmeveurt Quuwi 170) SIDSHEL QUTSELIRISHED6NTES &He6vil::
A) 20 cug) sLLS siDagsir 1) Y.V.Qnlig v Fafl A): SIOWEST LB, DINGMHUNGOOT  SFLOTEILD
B) 13 ais Hdé G 2) P.V.on gy Q\ ﬂm@ (. ) *6 o 53 b . mgﬂm
C)14 ez BHS ©1Q 3) AP.agn HDCaUDMETTE  JMETEH  JAMDEFTH@D UG 605
D)7 eugl sbueé G 4) algil Caesl) Geusgor(hLb.
A) A-4 B-3 C-1D-2 B) A-4 B-3 C-2 smeud (R): obd semwés) U@L ugeN alevs Cougn@Hib.
C)A-3B-4C-2D-1 ~ D)A-3B4C-1 D- 2 &Gl @GO Gear GOUSL g6d sfimer eNevlamwid CoHIHAS®:
165)  @psu SITEILIQEDLILTsHT s Ofley &iymo Consider the following statements:
UGBEMUSZISSHMET SIMDSHSASTHET ums AFILgIHTNg) Assertion (A): If no-confidence motion is passed against g
A) 0fley 15 B) fley 25 C) 0fley 243 D) 1fley 42 minister then all minister should resign.

Which Atrticle of the Constitution of India gives provision to se

up village panchayats?
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Identify the correct order in which they occurred in India:
A) Quit India movement, Non-cooperation movement, Khilafat

Reason (R): Only the concerned minister resigns.
Now select your answer according to the coding scheme giver]
below:

A) Both (A) and (R) are true and (R) is the correct explanation

A) Article 15 B) Article 25
C) Article 243 D) Article 42

166) OQeueniall 1S i Spsnamd 6hS QeTOD enel_
LweUH\Emg?

A) dlieusHen Ceusid
B) dneugdlen Lniy Qpellens
C) dlneug dles GleuliLiBlenev
D) Beus B 15
Venturimeter is used to measure
A) fluid velocity B) fluid surface tension
C) fluid temperature D) fluid density
167) M0 uflengILBSsIs:
A) QauctememuGen QeuelCLIM @SS, @PSHSMPWITNLD GUISSLD,
Heomurd QuissLD, FLL MUY QuissLd
B) st wmiy Quésd, Heomurs Quissh, QeustemenuGes
QeuaGm QuUISSLD, &SIMIOWITEOLD QUIsHEHLD
C) feomurg  QuésD, @HSEDPILITDL  QUISELD,
QuissLd, QeusTenemuGen QeuelCLm Quissid
D) @sgimpwmenn Quésstd, QeusmenuGsr QeuelCLm @uissLd,
&eomurd QuiSSLD, FLLOMILL @UISSLD

FLLomity
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of (A) / (» wpmib (R) @G &

gflwmer eenésLb

B)Both (A) and (R) are true and (R) is not the correct
explanation of (A) / (A) wHmIb (R) @rew@L &f; (R) 6T6TLS (A)
amE flwmer aNarésn 316060

C)(A) is true but (R) is false / (A) &f); syeummed (R) Heum

D) (A) is false but (R) is true / (A) geumi; egsomed (R) &)

171) Lh6sTenTT) LGS SH6L eNFHemil &6uo(H1lg.&S 6y
A) el aumed® B) ~umyGL
C) aijfefiwery D) sumufero
The laws of electrolysis are given by
A) Oswald B) Faraday
C) Arrhenius D) Lewis
172) HLEFTS (HS SIS 6T S10&8 6T TG

2 I Q& m6iulg. (55 N60m6V?
A) @LggTsiEmen 105560

B) Hlev 2 emLemnaemen 6 (hhISnemd sed

)
C) gal Gmey eNeugmuid
)

D) eNeugmuisers@ ol GéaL6m oieMdhgHed

(R) etsdTugl (A) DG
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The scope of land reforms does not include
A) abolition of intermediaries

B) consolidation of land holdings
C) cooperative farming
D) housing loans to farmers
173) uredsnyig STeursHnHEG 2 SMIEIIOTS &M SameoDd
A)ulLneB) wr  C) ewpruded D) sieusny
An example of Polycarpic Plant is
A) Pea B) Mango
C) Bamboo D) Pigeon Pea
174) @daEb Lase Soog gomeeCUngnenseriles
semiliquysg  Spsign by AMGGSS

(SepisEnsE) Crnue Uile Heo 55517
A) Gzall wHmID Guornes(p  B) L0 wHmb LmL_ib
C) amiGaninbg Csnynenn D) uniunn w&efes_ns
Who among the following scientists got the Nobel prize for
discovering the concept of jumping genes (or) transposons?
A) Jacob and Monad B) Beadle and Tatum
C) Hargobind Khorana D) Barbara McClinctock
175) @pdun ahs @M e B (hsi Hsione Koo
E1E0EmEVEMILI LI Qanendlng)?
A) undlevges B) Gpumenid
C) &evmn D) ks GHes
To Which neigbouring country does India share the longest
land border?

A) Pakistan B) Nepal
C) China D) Bangladesh
176) Blewevullevevns gemenin OEnsiensenit eflseun
A) egnsed) B) G &evblauey
C) gnbges D) QamiigenGlLiis
The uncertainty principle was proposed by
A) de Broglie B) Maxwell
C) Thomson D) Heisnberg

177) Qaaievens @ Ggbi Canam® ey el B C5655mS
Sl sl L eun
A) e dlwewis S pwi B) 5GL& (pgeShuni
C) pnw&ms) QLiquini D) P.S.@wngms \
Poondi Reserviour was planned to provide water to@d as

by \v

A) Sathyamoorthy lyer B) Nadesa Mudali
C) Ramasamy Reddiar D) P.S.Kumar;
SN FILI & EHEHE SIS 616D L L5 Lorigliieur?

178)

A) Ralanisoned Gk B) Gundlevnev Gmm

C) @uelbaieEnsg snani D) sunes gndy Gune

......... gave the title ‘Mahatma’ to Gandhiji

A) Jawaharlal Nehru B) Motilal Nehru

C) Rabindranath Tagore D) Subash Chandra Bose
179) QaetelihHI LI HuNeTCUTE HI(HHSHD  Fal g 6m6u0T6)

gHUGHSULLL Sy
‘Dindugal Federation’ was formed during the South Indian
Rebellion in the year
A) 1800 B) 1801
180) CPE&HSSTMHMNEL
LwlesTU(BLD QLI (h 6T
A) MnO2 Curiseaferv L o)
B) KMnO4 @QuriLrélwid QuionmisGerrL.)
C) K2Cr207 @QurlLr&luid enL&@&GCymGLoL)
D) KNO3 (@QumLrélwid snplCryLl)
The oxidant used in the testing of alcohol in breath is
A) MnO2 B) KMnOg4 C) K2Cr207 D) KNO3
181) &Cp  saplul@eteneupmisd @S pSlevenioliy
FLLGSeT 61hg Nfley LMITEHLSIOD UHWSTS Siflev Qb
SITELLEMEDW 2 (HeUT&HS UG CQFLIHMEI?
A) 10fley 303 B) Nifley 307
C) Mifley 309 D) fley 312
Which one of the following Articles of the Constitution of India
authorizes the Parliament to create new All-India Service?
A) Article 303 B) Article 307
C) Article 309 D) Article 312

C) 1802
A®EGLD FMIMUS MG

D) 1803
S6vo1L Ml
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182) oUCITEIMEL.  LNeTauhelaTaIDMIET 6The 2 Geons g6t
srgILaAur e / Pyrolusite is the mineral of
A) QuestLGevaNwitb/Mendelevium
LomedLie sard/Molybdenum
wsefslwnd /Magnesium
rhisefsa/Manganese
183) “QEeuedl. @UI6TM 6U(HLOMESILD” 6T6OTMITEL 6T60T601?
A) eolBUT 6u(BHLOMEID oML BRiseors
B) eufl Qgevey Cums 2 6ten N 6u(HLOMEILD
C) sefipul eu@pomsuid mhm Q&eve] Hriseons
D) Caflw euqmLomenrd GgliLomed Hriseoms
Disposable income is equal to
A) personal income minus subsidies
personal income minus taxes
personal income minus transfer payment
national income minus depreciation
184) FSHCWHAY  HeTamm  emeuerOITUNET QYL HIOETD G
o MILNeITe HUINSSOIULL 6001(H 618I?
In which year was Satyendra Sinha appointed as a member of
Viceroy Executive Council?
A) 1892 B) 1909 C) 1919 D) 1935
185) QuLgnsv wrsTEwISSNG SOPHIH elenm G (&L L]
Ganfl 2 ememmalyzn(1956) @mba 2uli BgHeui /Who is
died of fasting about Madras presidency to change the Name o
Tamilnadu in 1956.
A) smisnedlmigenni / Sangaralinganar

B)
C)
D)

B)
C)
D)

B)nnweSltugenni,/Ramalinganar
C) sflpngen / Tamilarasan
D) suflg / Tamilozhi
186) ncient Monuments Preservation Act was passed in the
y FneOILNHET LNIDAS@GD FLL (b.......... Speti(h Q& e (H
I;I_gj.
(,1 1900 b) 1902 c) 1904 d) 1907

%) The Chairman of National commission on Education in 1964
was

a) D.S. Kothari b) Zahir Hussain

c) Chattopadhayaya d) Dr. Radhakrishnan

1964 @60 siemwssILLL G5l sals Gals samevaul

a) 1q.6160.Can G il b) gndli amcenses

©) gL GLnun Swnwn d) LnaLit @nngnem eisev0 et

188) The Ryotwari settlement in Tamil Nadu was executed by
a) Thomas Munroe b) Robert Clive
c) Wellesley d) Bentinck
SISDHBIL1q.60 @nug el WD e 260
B (WenmUILI(HS SUILIL L_g]
a) gnwev weaGmn b) @nnunL Hemeneil
[OXARTENARN MM d) Quievotig i

189) In which year was Simla Agreement signed?

a) 1972 AD b) 1966 AD c) 1971 AD d) 1975 AD
&libeon RUILILSID 6155 ye01(H &S SNEG?
a) #.0.1972 b) H.9.1966 c) f.9.1971 d) £.9.1975
190) Which of the following States has no Panchayati Raj
Institution at all? /&pseoi_eubiled LiEhFMUSSH TrgSub
@eveung Kl 61517
a)Assam b)Kerala c)Tripura d)Nagaland
a)o|eno b)Ganenn c)Hflygn d)mnseons g
191) Galvanometer can be converted into a voltmeter by using
a) a low resistance in series
b) a high resistance in series
c) a low resistance in parallel
d) a high resistance in parallel
Q@b Snevalesn L L_en el IS L NN& WwIHnIeISHES

a) QO G®DHS WsgmLamw s Gememiile Genemiss
Geuerwi(pHid

b) @® 2wi Waigmemw GFn_i @emewiile Genewiss
Geuewsi(Hid

O m Gonhg SlagmLmu Lss Gemenlille @ememiss
Geuewsi(Hid

d) em 2wi dlaigmiemu uss Qeewilile Gemewiss
Geuewsi(Hid
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192) Four electromagnetic waves of different wave lengths are
given. (X-rays, Microwaves, Ultraviolet, Infrared). Their correct
arrangement in the descending order of wave length is
a) X-rays, Ultraviolet, Infrared and Microwaves
b) Microwaves, Infrared, Ultraviolet and X-rays
c) Ultraviolet, Infrared, X-rays and Microwaves
d) Microwaves, X-rays, Infrared and Ultraviolet
B6iE CleuciGoum| Siemeorsaugen Canessi Slensnhg Senevssi
QanssLLL(Detees. X-si&6m, eno&HEIN SEneodel, LD 2015,
yn&dleuliy - siemeusailest siemev 5emmisen @mriE euflenauleo
a) X-sdliser, Un 2argn, g e, enw&Eom Sieneoden
b) eww&GHT Semevaan, Lmé Sleuliy, ym 20151, X-sdligen
c) ym 2emgn, Lmé Seuliy, X-aig6i, en&EHN Sieneoden
d) ewwaeIn Yemevser, X-adliser, Lng e, Lm 2ergn

193) Match List | correctly with list Il and select your answer using
the codes given below / Liiquwiev 129 LLiquied 1l 216 GBS,
$e @Miuc (et GHlui(smens Canewm® afluner Leaneo

Ca1ih05(H\&5a|D
List—1 List— Il
A) Steel Industry / 6158 Qgnfimaneneo 1.Ariyalur

Sugar Industry/ gigaeny Qgnfimanensy 2. Pugalur

Paper Industry / enflg Qznfiheneney  3.Mohanur
Cement Industry / Sl e Qgmflibeneney 4. Salem
b) A-3,B-2, C-1,D-4

d) A-2,B-1,C-4,D-3

B)
C)
D)
a) A-4, B-3, C-2, D-1
¢) A-1, B-4,C-3,D-2

194) Match the following
Birthday person
a)September 15 1.Kamarajar
b)September 17 2.V.0.C.
c)July 15 3.Annadurai
d)September 5 4.Periyar
a) A-3, B-4, C-1, D-2 b) A-3, B-4, C-2, D1
c) A-4, B-3, C-2, D-1 d) A4, B-3, C-1, D-2
195) The resistance of a wire that must be placed parallel with a
12Q resistance to obtain a combined resistance of 4Q

is/eg semen WlengemL_ 2 een Hbllemi 12 b SlengenL 2 een

shUWL 61 LSS euiiqer @ememSFNed 4 b Wl Fen
Wigeie FlenL_&@n

a)2 Q by Q c)6 Q d)8 Q

196) Bhilai lron and steel industry is constructed with

/1 Seonill 6153 w60 611G BIL(h) 2 SealujL_em BlmjeuliL

a)Russia b)West Jermany c)UK nce
197) List-I(Name of the Constitution) List - Il (Cre der)

A. The Finance Commission icle 280

B. The Commission for Backward Classes 2. Artigle 340

C. The Election Commissioner 3. Article 324

D. The Official Language 4. Article 344

a) A-1 B-4 C-3 D-2 b) A-3B-2C-1D-4

c) A-1 B-2C-3 D4 d) A-3 B-4 C-1 D-2
198) In which year Kamarajar presided Indian National

Congress?smoyreyi g oyeor®  @hSHu  Cadu  ommmig6
SEMEVETIL STTHIEHGoTTT .
a) 1962 b) 1953 c) 1964 d) 1955
199) Who founded the Christian medical college in 1901 at
Vellore? /Geugpnfledo 1901'60 fnleivgieu whSsieus seoeonilenw
Bimiefweur
a)Madam Cama/@GwLib snwn  b)B.C.Roy/ B.C.omul
c)lda Scudder/gLn evsLi d)Robert Kunieg/ gnuiL- sefls
200) 'meucLll IgsmeustT eTeTm LSSSSmg eTpdHueui /[ Who wrote
"Life Divine"
a) grelCamr Gamsv b) seumd ellCousmsThsT
cLm&L] @rmandmegsmrer  d) wETSLT STHSH
a) Aurobindo Ghosh b) Swami Vivekanda
c) Dr. RathaKrishnan d) Gandhi

QuuemL GCHTHSH 6 TLLML Qau6LEYID ?
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